B.A./Part-1/Gen./(1+1+1) System/ECOG-1/New/2020

UNIVERSITY OF NORTH BENGAL
B.A. General Part-I Examination, 2020

EcoNoMIcS

PAPER-I (Revised New Syllabus)
Time Allotted: 1 Hour Full Marks: 25
The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words as far as practicable.
All symbols are of usual significance.

GROUP-A
eta-5

qHe-d

1. Answer any five questions from the following: Ix5=5
-G 2Afpls elid Ted nies
Gl Urgac] yeaswd] IR [Age —

(a) What is meant by consumer surplus?

TSGR Tge 0 & @RI ?
IUHIHT STERY F=ITel & g3 ?

(b) State the law of variable proportions.
AW (F(g RIS ToNa SIgiited 9@ At o I 741
gRadelia U Al Seoka T |

(c) Define Giffen good.

‘e TR iee wie |
T gy’ a9 T |

(d) What do you mean by opportunity cost?
A A w0 G [ @I 9
IR AN AT & g ?

(e) What is meant by MRS?

MRS TS & @I ¢
THIRTH-H~Tel & s ?

(f) Define complementary goods. Draw the indifference curve for such goods.
AR TR IR WS | & TF T CFGT (0o @2 (@9 2@ G (wdie |
URRB T IREINT THeq | T qRgedl M ded @

I
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(g) Define Income Consumption Curve (ICC).

(h)

2. (a)

(b)

3. (a)

(b)

I (ot (RIS (ICC) IResf 7S |

3T JYHRT T g T |

Draw the Demand curve and MR curves under both monopoly and perfect
competition in short run.

o efsraifionEe wm ¢ arrha v ol cva Team T vk
@ ¢ 2ifeF BT (MR) @l (@ 2@ G e |

THIIDHR 31 ol ufcRuel gdaT el ART X@r A AMr=T Jwarl
@ Sifhd THEN |

GROUP-B
etat-4

THe-9
Answer any one question
@A-FH 976 eTad Ted nis
H1 UHAcT YTewd] SR (S8
What is law of demand?
‘Bifewt @ & & ¢
ARTHT o w=dT & T °?
Explain the shape of the demand curve.
BifRvl @4l (@ SR 7, ©IF i F9)
AT AT 3MHR ARAT T |

What is budget line?
M0 @A 9

golc Y&l ¥9hT & 8l ?

How is it constructed? Draw and explain.
Gft eI fom 21 = 2 T I T4
TP AT HE B ? [ IR AR T8 |

(c) Why is it called price line?

4. (a)

1065

OfocF @9 TN @A TN 7 9
IR Hed X o 9o ?

Distinguish among price elasticity, income elasticity and cross-price elasticity
of demand.

vifenin wiwste Efogeiael, SRe fEfsgrmel ¢ sAiiie Riogwer
Ny el 41

Aed |, 3T Ard 31 AN Bgd drd #ed urefad ey |

10x1 =10

2+8=10

2+6+2=10

5+5=10
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(b) What are the determinants of price elasticity of demand?
bifgwis wiwere FHfeziviror Mdneefr & & ¢
ANTD] o dArad] FuRebes & & gq ?

5. Explain that Long-run Average cost curve is derived as the envelope curve of 10
short-run average cost curves.

TP 91 [ @2 (A @ RAIFEA 9% T @A ‘Envelope’ @ A iz
(derive) <1 3, Ol G <1

éaaﬁéq AN NTd @7 BT 3Id ATd YTl folwT QE B2
HIAT G RS A AR T8N |

GROUP-C
etat-of

AE-T

Answer any one question 10x1 =10
@-(FE G315 T Ted ne

B THACT UTTHT IR (GBI

6. Discuss and illustrate with the help of suitable diagram the concepts of Price 10
Effect (PE), Income Effect (IE) and Substitution Effect (SE).

Toe Hrad AR ¥ 2SR (PE), 9¥ 2R (IE) ¢ +ffaS @[ (SE) aReisten
AT SN T IR 7S
qed YT, I 99 A URRIIS UHTaeh] gRUMES  SUY<h @]

AEIRTHT Bl X =T TN |

7. (a) What is meant by ridge line? Show the production zone with the help of ridge 1424542
lines.

TeoAMCTd R (ridge line) @00 & @RI 9 Teofiweas R LI
Teof e wieeT (production zone) JRICT (TS |

T AT 96l & 30 ? AT YWD FERIdlel ITeA &F Sasded |
(b) Explain producer’s equilibrium with suitable diagram.
Toge fbead AR SeAMEE SRS (producer’s equilibrium) T 1
JUYh NS gRT IATEHD] Aol RN T8I |
(c) What is meant by expansion path? Explain graphically.
Teof e FERe @4 (Expansion path) 5 &5, @i fora =iy et <=
fIRdR g1 w=11el & gfsreo ? AR grr T8N |

8. (a) Define utility with an example. 14247
Trizgel HEPIE THCAIArO Fes wis |
IR ed SUARTT aR9Id T |
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(b) Distinguish between Total Utility (TU) and Marginal Utility (MU).
MG Tolciel ¢ @lfess Toiaies gy gy o w11
F STAAAT 1 AT AR ueied THE |

(c) Explain the relationship between TU, MU and Average Utility (AU) with the
help of suitable diagrams.
Toige f5raa AR (6 T, 2NfesT Torcaiet @ 5ie TorRia-a WP T
AT G
SR NEIHBT FERAlel Bl SYAMNCT, AHRT SUART i i d
SUITRIATATSTS ! T ARAT T804 |

1065 4
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B.A. General Part-I Examination, 2020
EcoNoMmiIcS

PAPER-1I

Time Allotted: 1 Hour Full Marks: 25

The figures in the margin indicate full marks.

GROUP-A
e+

qHg-h
1. Answer any five questions from the following: Ix5=5

Q- #A5le etaa Tex wies
F Mgt Uegwd! SR (aIe—

(a) What is National Income?
[EISRACIEAC
T 3 Wbl & & 2

(b) What is Investment Multiplier?
RIS @ BICE 90 9
AT T[orE BT & /I ?

(c) What do you mean by ‘Paradox of Thrift’?
“Paradox of Thrift” I7C® & @Rl 2
EEGEARENIIG I Ca o

(d) What will be the value of the multiplier if the value of MPC = 1?
MPC = 1 2=, RiFwiel eaa S 7o 23 ¢
Ife TAfRY = 199, ot A9 & g7 ?
(e) What is money?
g & 9
q&T WD & BT ?
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(f) Define Marginal Efficiency of Capital.
TR &SP vl JeT0s 6 (@Rl 9
ol AMT gerar aREIRT T8 |
(g) Define GNP and NNP.
GNP @R NNP-9 el i@ |
g afe wegadt gReidd T84 |
(h) What are the two main propositions of Say’s law?
1-a7 e ik g6 @igy @79
H-B FRIAST ggdcl I UEe® & b g ?

GROUP-B
er-4
qie-Y
Answer any one question 10x1 =10
- 930 e Ted wie
G ThdeT UTEwd] IR A8

2. Write a short note on the Keynesian Consumption function. 10
(PR (el SCofFe @3 T RERS Bl 14
BADH] SYANT HeTaR BIel fCuol] Fega |

3. Estimate the value of the multiplier, when the values of MPC are 0.5, 0.8, 0.2 10
and 0 respectively.

2IfSF (Si9 2eIF T 0.¢, 0.b-, 0.8 GR 0 IH BFF W F© I(J ?
THRRIGT AFES 0.5, 0.8, 0.2 31 0 WY [Urdd!l A R T84 |

4. Explain critically Fisher’s version of the quantity theory of money. 10
e wdd ~Afawi wefb Siesal w4

Haldl HIAI R‘Ic&l"ﬂdnl BhIRB] ABRUTD] THTATAATHD HUHT ST ‘Iﬂg q |

5. Explain the different functions of money. 10
R Feele Sl T
gaTe! faff=~ fohares e e |

1066 2



B.A./Part-1/Gen./(1+1+1) System/ECOG-11/2020

GROUP-C
retat-of

-1
Answer any one question 10x1 =10

@-FF G0 ATd Ted wie
H1 Thac] UeThl SR fagery

6. (a) What is Price index? 2+5+3
W I IS [ @R 2
I gadbidh & BT ?

(b) With the help of an example, construct a price index to measure the change in
the value of money.

TIRgeTR AN 5 5190 S Sl T4
JETERUIH] BRI J&Th! AFHl URdd- AU9 T4 Hod  Fadbichdl =0T

THER |

(c) What are the problems in constructing price index number?
qrFeg & & SRt 38 21 RSP S5 A0S (N 9
AR ADIH HH FHEHET & & TARIES B ?

7. (a) Critically evaluate the Classical theory of employment. 5+5
ACEIOAPTR FIREIE foes wrgd iR w41
SRR AT G ST cHd wIHT Hedih THe |

(b) Distinguish between Classical and Keynesian views of employment.

FIFEIE @) @EAPRIA e wog W Alw w9
RIS IRAT 31 el gftedvErs yefad T8 |

8. Describe the various methods of measuring national income. 10

TR S “ifScem [fen smmfowf i 21
g M AroeaT I faffiewar Bawd THaN |
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UNIVERSITY OF NORTH BENGAL
B.A. General Part-I Examination, 2020

EcoNoMICS

PAPER-III

Time Allotted: 1 Hour Full Marks: 25

The figures in the margin indicate full marks.

GROUP-A
eta-5

AE-B

1. Answer any five questions from the following: Ix5=5
@-FI #ABlT elvas Ted wies
@ Urgdel yeaesd] SR fagerg—
(a) What is underdeveloped Economy?
e SLAifs e & @Rl 9
BT rferawer woal & Bl ?
(b) Mention any two problems of over population in India.
ORSIE TR e wi T Trad 791
HRTH STHEIT 3ffdfgd ggacT TRAES Ieold sl |
(c) What is Land reforms?
il FFE 00 & @RI 9
IA-FEIR adT @ 7 ?
(d) What do you mean by Green Revolution?
e K2 Ie0e & @RI
BRA P 9=TTel & gfsro ?
(e) What are the new technology in Indian Agriculture?
OIOR PRICHCT T @& FeTce 6 @Rl 9
ARG ST F31 YrRifidl & & g ?
(f) What are the sources of Agricultural finance in India?
SRS P AR Tl & [ 9
ARTHAT BN fAThT AId8s & b g ?
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(g) Give two reasons for the existence of mass poverty line in India.
S [T wifie-@LE Sieees 6 Fiad Sre w91
ARTHT ATH TR IGTDH] ARTTD! Fgdel HRUES JASIe 9 |

(h) Give two main reasons for the backwardness of Indian Economy.

SRS SLIER SrAred 1fo TR Sraed 9
ARG 3TfaeelTdh! UBICUTD! gdcl P& HRUESH [aded |

GROUP-B
feta-2
HHe-"
Answer any one question

@-(FE G315 T Ted ne
B ThdeT UTEwd] IR a8

2. Describe the features of underdevelopment of the Indian Economy.
SRS SR SO (RS S 741
IR srefeqaver ifdnRia g@! faemares aaf T4aN |

3. Explain the trends of population Growth in India. What are the policy taken by
the Government to control the population Growth?
i TR Jfed o SiEval w91 aerel rEcE aw TR [
I &R FCACR ?
YRTHT ST Eﬁi‘cﬁ\T Ydle IR ‘I':iSI‘H\l AXDIR gIX] S =TT

& & AIfTE® TBUT MRS B ?

4. Discuss the impact of new technology in Indian Agriculture.

SITOR RS N & o FicETva F41
AR PIYAT TAT YRIRTHIHT JHaaR Bhe T8 |

5. Discuss the chief features of Indian National Income.

SIS TSR SR 2l (IFiEy et S 1)
IR g 3madT 450 faRivdes IR @@l a9 |

1067 2
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1067

GROUP-C
rett-of

AE-T

Answer any one question

@A-F 9F5 2THa Ted wis
H1 Thac] UeThl SR ey

Analyse the nature and effects of the “Green Revolution” as introduced in Indian
agriculture.

oFeR wLHIfore “IRE Rai aFfs ¢ T SEIH T4

ARG PYAT Y& TRUDI BRAT Hidd! UHfa A wq@aewd!  [Geeiyor
‘Iﬂéﬂl

Explain the importance of Land Reforms in India. Do you agree that there was a
progress by Land reform in Indian Agriculture?

OICe B WHIEE @G S 591 QW [ T 79 BN WHE ©iwel $ReE Tro
(I QLR ?

ARTHT Y[H-GIRDT Fecd IASIe | & duly ARG HIVAT YA-GIRGRT Wl
qUH! TR =1 PRI FEHd B0 ?

Write a note on the role of NABARD in providing rural credit in India.
OICe &I 39 7RI NABARD-GF Sl Toig @SiH el (+19)
HRTHT YTHIOT 0T YT THAT Adrsdh] HABER U3l feuo degsry |

10x1 =10
5+5=10
5+5=10

10
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UNIVERSITY OF NORTH BENGAL
B.A. General Part-II Examination, 2020

EcoNoMIcS

PAPER-IV
Time Allotted: 1 Hour Full Marks: 25

The figures in the margin indicate full marks.

GROUP-A
e+

AE-B

1. Answer any five questions from the following: Ix5=5

@-FI #ABT 2o Ted wies
@ UrgdeT yeaesd] SR fagerg—

(a) Mention the condition of equilibrium of Perfect Competition.
o4 SAfSRINOR IS SRPIC =16 Tad T4
quf gfrae il Al I arsqeld |

(b) What is “duopoly market”?
“TRIfeT e’ PP A 9
TABRY TOIR D! B BT ?

(c) What is ‘super normal profit’?
‘il JAF FIE I 9
AR FATHT Td! & B ?

(d) What is ‘monopoly’?
‘GFEIOA AR FICE A 9
UHIMIBR TIHl B &l ?

(e) Define marginal physical product.
2T g Teoiveas kel s |
A Afd ITED! TRYTT oiega i |

(f) Distinguish between Real wage and Money wage.

2 MGl @ ILF TG Wy AL T4
IRAfAd SATaT 31 {1 SATelT A1t urefad e |
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(2

(h)

4. (a)

(b)

5. (a)

(b)

2066

Define the term “differentiated product”.
AP T TS 7S |

fdiqRd axg ! & B ?

What is loanable fund?

eIl ©RRE PG 0 9

FURY BIY TAHT B &I ?

GROUP-B
etat-4

HHe-"
Answer any one question 10x1 =10
@-(FE G315 T Ted ne
B ThdTT UTTEwd] IR A8y
Discuss the different characteristics of Perfect Competition.
syt eferaifrenEr e @REel SitEma 71
vl gl = feares w4t T |

Explain graphically the equilibrium conditions of a monopolist.
GG PN SIRAC @l @Rifbeas AR Wi T4
NIRRT B THIERID! Frfeld! Havell RN T8I |

Distinguish between gross profit and net profit.
9 A S |o JAPR M) A1 41
Bl FATGT A g FAGT H1eT Urefad T |

In what ways the nature of profit differs from the incomes of other factors of
production?

TAWMCAR S TAFACR R 2P (AT [ & O [wR oFfe wem i
PRE?

HATHIDRT YR B UbRel IUGAD] A HRBE®OD] IA<T A~ §O ?

What is rent?

Y&l FCP W ?

ST ¥ThT & BT ?

Distinguish between Differential rent and Scarcity rent with examples.
HAFIFC AT R FFO! Tl AT T —GnIzgeig AL F1
SETERVTAIRT HadR o I Fewdl T —HATST Ui el |
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7. (a)

(b)

2066

GROUP-C
retat-of

AE-T

Answer any one question

@-(FE G315 T Ted ne
Gl TICT UeD! IR S8y

Explain graphically the shortrun and longrun equilibriums of a firm under
perfect competition.

o efsEfeonEe ATE 3l FeR FTFFET @R TLPE SR @b
AR I <A

XETRIFERT Yol Ui sicuateti= @1 deierel™ drdeldl A Tl |

What do you mean by price discrimination?
Wi 7RI @IS 6 @R 2
Ao favg w9l & &8 ?

Explain how equilibrium price and quantity are determined when a monopolist
discriminates price in two markets.

GFHEHN FRAR T W LI FE O SR W ¢ oifFe e N
2, S T

9 THTEBRI §3 TOIRAT Jed—Td¥E A=Y, Td o 31+ URHAIGRT Fgar
HER) FERT g5, @rer THEN |

Explain Ricardian Theory of Rent and its drawback.
fPICETa <Teel g TR It 41
ReTed! RFeT G dHuiRies Afld ARAT Tl |

X

10x1 =10

10

2+8

10
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UNIVERSITY OF NORTH BENGAL
B.A. General Part-II Examination, 2020

EcoNoMIcS

PAPER-V
Time Allotted: 1 Hour Full Marks: 25

The figures in the margin indicate full marks.

GROUP-A
e+

AE-B

1. Answer any five questions from the following: Ix5=5

@-FI #ABlT 2o Ted wies
Gl UrgacT yeaswd] SR [SIB:

(a) What do you mean by liquidity of an asset?
TR ST @00 6 @RI 9
RGBT AR F=Tel & g3 ?

(b) What is bank rate?
FIFCED & 2
g, <X (bank rate) =T & B ?

(c) Define indirect taxes.
AT I IR WS |
WRIE IR BT YRATIT T8 |

(d) What is meant by balance of payment?
ETHE T e b @R 9

LHDI AT el @ gE3rs ?
e) Define Stagflation.
(e) g

ferseToriion kel nie |

ARSI Ard! (Stagflation) TRHTYT eRegEN |
(f) What is Public debt?

TR 4ol PP A 9

TSI S 0T HdbT & 8 ?
(g) What is called loanable fund?

A5 O FICF T 2

FORITY BN & s A6 ?

2067 1 Turn Over
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(h) What is called ‘bank’?
‘P FICF A ?
D b oAy D ?

GROUP-B
er-4
HHe-"
Answer any one question

@A-F 9F5 2Ta T wis
Gl Thac] UTTend] SR [ager

2. Discuss the canons of taxation.
T TS e SCEH T4

o (d C
PRDT HIHE™ D] Tl TN |

3. Discuss the functions of Commercial bank.
‘Fifdfers Tz Feela A T4
TIATRID SIS HRIEH Soold ‘I':iSN-[ I

4. Discuss the various anti-inflationary measures.

wreife frEer [fen smfoef s 391
faf=T garmifa R SurEs @@l T8 |

5. Give reasons for and against free trade.

w31 e 2I0% @ Roies I mis)
b ATIRST TeT 31 faRIedT HRUES (e |

GROUP-C
retat-of

AE-T

Answer any one question

@-(FE G315 T Ted ne
Gl TSI UeD! IR S8y

6. (a) What do you mean by ‘inflationary gap’? Explain with a suitable diagram.

YErFifed T & 2 ToR& oraa A= it F41

ETEDITD! FRTA WDl & B ? IUYTh NWIAFD] AR THDT AR
‘Iﬂg ql

2067 2
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10
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(b) What are the important causes of inflation?

uiifen wwes)d SR @9
HERWIABT PR BRUEEH B-D B ?

7. (a) Distinguish between internal and international trade.

Trered|d ¢ weEiios e e AL b w1

=R @ATIR 31 SreRiftgy @mRATET T SETSIE |
(b) Give arguments for and against Progressive taxation.

25foReT I A% Gk [0 Ife @)

iRl @Rl (Progressive taxation) WHIM I faRIEFT ddhsw WA
‘lﬂg q |

8. (a) What is Speculative demand for money?

o FIFAEE &) oL SifEw FICEF A6 9
HaTdh! ‘Speculative demand’ 9dT & BT ?

(b) How is the demand for money related to the rate of interest?
FoF! Tile Sda BIfnia I JA QAR I SN F41
HaThT HAT TSl SR HAE] F=d © ?

(c) In this context explain the concept of liquidity trap.
G2 (% ST FIW ARG I )
T THTHT IRAATD] YTHTh T STTLRUThT IR ‘I':iSI‘H\ |

2067 3
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UNIVERSITY OF NORTH BENGAL
B.A. General Part-II Examination, 2020

EcoNoMIcS

PAPER-VI
Time Allotted: 1 Hour

The figures in the margin indicate full marks.

GROUP-A
eta-5

AE-B

1. Answer any five questions from the following:

@-FI #ABlT 2o Ted wies
Gl Urac] geaesdl SR fAgeg—

(a) What is globalization?
PR (globalization)-@3 Fkes! WG |
TATSATDHROT TP & BT ?

(b) What do you mean by Balance of Payment?
‘Balance of Payment’ 3l (FTeI(w ST @100 F Q@RI 9
THH Aged A=Tel & s ?

(c) What is social security?

Social Security ! A fSarerer F o
AHITS RET IdhT & 7 ?
(d) What do you mean by ‘Bank rate’?
PIF & FICF A 9
‘GTed &% (Bank rate) Wl & 36 ?
(e) Mention two causes of industrial disputes in India.

wirren Fs [caiem 1ib e Seae 91
ARTHT AT fAaredT ggdel HRUES darsdard |

(f) Mention two important features of money market in India.

SRICERRERCERATGIEEAC (@D T
ARADI JaT IISIRGT gsacl & [aRvaes aarsde ™ |

(g) Mention two major achievements of economic planning in India.
oices ST wiffeame uib [Reaw Aiwey S 741
ARTHT ATAH AR Gsacl &I Iucheles JasIe |

2068 1

Full Marks: 25
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(h) What do you mean by fiscal policy?

2068

R Gife FeTe @RI
fa<ia ifq et & &1 2

GROUP-B
etal-2

qHe-"
Answer any one question
@A-FH 936 eTad Ted nis
H1 UHAcT UTewd] SR (S8

Discuss the features of Indian capital market.
SRCERGLCR R CERSIREN AT
ARG Yol qoTRe! fqRmares =@f e |

Discuss the broad objectives of the Five-Year Plans in India.
ORISR AR AfiFTa o Srref SEnal 741
AR U=auig ATSTDT (AR Seedes a4l T8 |

Explain the causes of Industrial disputes in India.
wlaeed i [Keaieed Sreef F 1 eEna w9
IRAAT e e sRES a9 TeN |

Discuss the recent causes of the deficits of India’s balance of payment.

SIR0OF (G ORI qiofoa Areifeor el i <41
MRADT B AerId] TEIDH! aidd HRUES dal THaN |

GROUP-C
etat-of

e
Answer any one question

@-(FE G315 T Ted ne
Pl TICT UeD! IR S8y

Discuss the quantitative and qualitative measures of credit control by RBI.
SRR RETS I 24l @elale @ #ifaieate 3 fFraer TeiremEg Ry 741
ARG RSd =ared (RBI) &1 9 PRI /G AHHAS 31 JOIMHD

fafrewaT e TN |

10x1 =10

10

10

10

10

10x1 =10

10
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7. (a) Discuss the various social security measures adopted in India. 743 = 10
SRS (@ 7w e aieTel T 921 TR ©f HCEAbel T4
YRAAT AHINTS GREATHT BT IUIEH T80T TRUD! B, ARAT T |
(b) Do you think that they are adequate?
off & W Tt @ Grafer i 9
& qUISATS A8 Al IURIEw T g ?

8. (a) Discuss the problems faced by small and cottage industries in India. 545 =10
OIS FY € FOId PR TP SCenel 591
IR oY T HER IEUH & & AAAES B a0 THe |
(b) Discuss the functions of Indian commercial banks.
oiAced Afdfers e FRE e F9)
AR ATTHNIS ATEDH] BRITH Iooid TJ8iY |

2068 3
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B.A. General Part-II1 Examination, 2020

EcoNoMICS
PAPER-VII
DEVELOPMENT ECONOMICS AND STATISTICS
Time Allotted: 1 Hour 30 Minutes Full Marks: 50

The figures in the margin indicate full marks.

The word limit mentioned below against each question to be strictly followed by the students:
2 marks-30 words /2.5 marks-40 words / 4 marks-60 words / 5 marks-100 words /
6 marks-150 words / 8 marks-220 words / 10 marks-300 words.

DEVELOPMENT ECONOMICS
[Srate wdaife]

GROUP-A
eta-5
qHe-d
1. Answer any two questions: 5 sy s
Q- 76 elva Teq mies
F1 ggaCl UeAEwd! IR AN —

(a) What do you mean by disguised unemployment?
R (FFIg 0 [ @RI 9
B RGN AT & 3D ?
(b) What are tied and untied foreign aids?
i ¢ Y& [l AR A Sl & ¢
IYH A h Aol Hera & g ?

(c) What do you mean by social capital?
ANIE e FeTce g & @R 2
AT Yol 9=TTel @& 3o ?

(d) State two adverse effects of population growth on economic development in a
developing economy.

Treie] (ree! SLAReF TR SR TRl IR 7 FereR SrEd FA)
g faeraeie srfeuqverns! e faaerdr Sader gigal gedcl uldgd

gIIew Seold el |
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(e) What is capital-intensive technique?
W@—ﬁﬁ'\? TAMCR (ST (technique) IETCS & @R 9
UST-ger gfafd W & &1 ?
(f) What is economic planning?
st faesmi & ¢
s AT wdT & BT ?

(g) Who are the member countries of OPEC?
OPEC-97 3 (7 (Fefe o
OPEC-&T W QT8 G G 8l ?
(h) What do you mean by dual economy?
e T¢I Tece i & @R 2
GURT JIIARRAT 9Tl & IS0 ?

GROUP-B
etal-2
qHe-"

Answer any one question

@-(FE G315 T Ted ne
ERRSER S E RSN N ES G|

2. (a) Can per capita income be used as an index of economic development? Give your

arguments.

T TR SRE & wdAfes Twa e IR I9RE T4 AW 9 (oE Tera

FACF S wie|

& UlaaRh AR oNed [AdmMe! qadha! S TN T4 Alhs ? 37Ul

GEACHENE

(b) Do you think that HDI is a better measure than the per capita income?

¥l & 1w 79 (@ 91 TSI W gey HDI (VR SHACTR 5% ) HLAfoF Tacad

ICAF OIS NG [ I 9

& AUIRATS AFe & AFG [9H™ gad (HDI) 9f &fth 9=l SSdy SU™

8l ?

3. Discuss the advantages and disadvantages of foreign investment.

e RfSieR gkt e st T2 S F9)
Il e @ &1 Bifew =@l e |
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4.

7. (a)

(b)

8. (a)

(b)

3100

Distinguish between economic growth and economic development. What are the
indicators of economic development?

gdfiafeos eofs ¢ wfafes Smaew W s B w0 wdisfos St
Rrtxeafe (indicators) ISR

anfefes Suwt o anfdies famranmsT ueidd T | fde fadrasr qaass
DD B ?

Explain the concepts of HDI, GDI, GEM and HPIL.
HDIL, GDI, GEM @8 HPI @3 «ieiefet i<t 33 3971
HDI, GDI, GEM 21« HPI-¥l &IRUIE® ARl J|-j5|<1 I

GROUP-C
etat-of

AE-T

Answer any one question
@A-FH 976 s Ted nis
FH1 TP oDl IR e

Explain the two-way relation between population growth and economic
development.

TR I @ LA SR NP 215 791 17t 401
SEET gy Sife e fahraHaTSIal geathi W ARAT e |

Write down the functions of IMF.
IMF-43 184 et wis |
ATSTATH D] HRIEH o] |

What are the major roles of the World Bank for economic development of
developing world?

Trgre (e forg Ao TRACH IMF-93 5 SRRTR SICEbel 341
famraeiia favasr snfdfe fawmramr faeg efee! yq@ yHerEs & & g1 ?

Distinguish between balanced and unbalanced growth.

I % 8 SREIIE Jfad g+ e 79

A1 AT AT IUSTEwATS U THBN |

Explain critically the theory of balanced growth.

37 3% (balanced growth) OTER G 23F A1 T4
AT USR] NG FATAIATHS HUAT AR T84 |

4+6=10

10

10x1 =10

10

5+5=10

4+6=10

Turn Over



B.A./Part-III/Gen./(1+1+1) System/ECOG-VII/2020

ELEMENTARY STATISTICS
[ feE oAfameane]
GROUP-A
e+
HHe-d
9. Answer any two questions:

- 7f5 @i Ted ies
F1 ggaCl UeAEwd! IR AN —
(a) Define Sample.
Sample I -9 e[ WG |
yfree TRIRE TR |
(b) Define primary data and secondary data.
AT € (@M O e we |
grIfie dedid I "eafiies qeiess gRWING TN |
(c) Define frequency density.
AR 999 (frequency density)-a3 IR 7€ |
ogfer B aRETe TR |
(d) State two properties of A.M.
AM.-a7 ufb @Ry Srae 391
AR ATEIDT Gsacl [ARdEs oo el |

(¢) Show that: Y (x; —X)=0
i=1
(A8 @8 D (x; —%)=0
i=1

TSR+ Y (3~ 1) =0
i=1

(f) State two advantages of standard deviation (SD).
St #1iefe (SD) @ ufo R Srae 41

A [daed! geacl dMew Scold T8I |

(g) What do you mean by relative frequency?
el #fR (Relative frequency) eTce & @I 9
AMUeT JAGRT A=A & 3o ?
(h) Find median for the following observations:
fermferiie afiscar@ Sl (Median) 97 791
ferefeiRad sractih-eware #egwe] TWvaiy
35, 36, 68, 89, 37

3100 4
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GROUP-B
frein-4
AE-9
Answer any one question 10x1 =10
@A-F G5 T Ted wie
ERRSER S E ESH N ES G|

10.  What is frequency distribution? What are the various steps to construct 2+8=10
frequency distribution from unclassified data?

AR Terew (frequency distribution) J@C® & @RI 9 SidR= ARy @&
F901% 359 (frequency distribution) 90w FACS (5ICF (@ (@ AISTE AR OFF Trad
9|

gRT fIaRT H=iebT & 81 ? Sraifiha dedisbdre 3Mgiy faavor fasior 1+ fafd=
TRUEH & D T ?

11. Calculate mean deviation about mean from the following data: 10
AR Aoy (A 9T @Es 9T Ny (MD about mean) ICRRETH
FrfoRaa dediemare A Fyd Ay faged MR 1489 -

Class Interval: | 10-15 | 15-20 | 20-25 | 25-30 | 30-35 | 35-40 | 40-45 | 45-50
CEilky RO
o7 JTIRT:
Frequency: 4 12 16 22 10 8 6 4
“AfRe
IR -

C

12. Calculate standard deviation (S.D) from the following data: 10
frfafae Aoy @ emid #1<& (S.D) fefa F4e
fFrfoigd deaieere de faee fHeRor THer

Weight (kgs): | 40-49 | 50-59 | 60-69 | 70-79 | 80-89
@& (kg)

drer (f. am) :
No. of persons: 3 10 22 7 8
(eTICRS RIS
fth A=

13.  Describe the various methods of collecting primary data. 10
2ifie w2 e T @ [ife mio AR o [ggd wie)
Ui qeaid Hhed T faf= falfEwdN sahd e |
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GROUP-C
retat-of

-1
Answer any one question

@A-F G5 T Ted wie
FH TH YD IR IE

14.(a) Draw both less than type and more than type ogives from the following data:

e #foraiea (@6-209 (less than type) 8 IT-T® (more than type)
G 2R @2 (ogive) SEY F9¢

RfeIRad Teaidhare =T R AN W1 8k §d' UBRDI ARG 3ifdhd TJeRT :

Height (in cm) No. of boys
Tl (@h) IEEA R
JAS (A ML) | DCEED] G

120-124 12
125-129 25
130-134 28
135-139 15
140-144 12
145-149 8

(b) Graphically from this ogive determine median.
Tolare SR (@ Sl e 39 $99% 99 (formula) I92F IR | GF 77 2195
I(E [ QI IR (v AT S @ AR e Nt @g [l
T ARvETe i AerRer fERer RN |

15.(a) Explain the concepts of
(1) line graph, (ii) bar chart, (iii) pie-chart and (iv) histogram.
(i) line graph, (ii) bar chart, (iii) pie-chart € (iv) histogram T «iRetiesten
P41
(i) dfdd emerdl (i) gl of@r (iii) US-or@r 3 (iv) A= d] gRUES
T THEN |
(b) Draw a histogram to represent the following frequency distribution:
e #fry ot (@ Histogram SiF+ 96
et sgfy fadRorers gfaffeed 7= geb smafest sifhd T8I
Class Interval: | 500-510 | 510-520 | 520-530 | 530-540 | 540-550 | 550-560 | 560-570
CEIIREIE
syoft
Frequency: 10 15 25 35 45 20 15
AR
IR -

c
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16.  Find A.M., Median and Mode of the following data:
fomferiie qifia oie, W=l @ MAeE T e s
ferefeiRad Tedidhdre AR Hed, Hegwel 3ifY 9gcld Wiogaiy :

Class: 00-05 06-11 12-17 18-23 24-29
@re
2yof}

Frequency: 06 10 15 13 06
AR
IR -

c
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